
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

 

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
D

ep
ol

u 
el

ek
tri

kl
i s

u 
is

iti
ci

la

model

ReferansSütun Model Tipi

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

le
kt

ris
ch

e 
B

oi
le

r

OPENGEWERKTE TEKENING
ELEKTRISCHE BOILER
model

CodeCol teken model begindatum     einddatum

LYDOS ECO ABS PW
R8218140-04 - 24/10/2022

1 3201974 LYDOS ECO ABS PW 50 V 07-2018 -
2 3201975 LYDOS ECO ABS PW 80 V 07-2018 -
3 3201976 LYDOS ECO ABS PW 100 V 07-2018 -

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

ERSATZTEILKATALOG
ELEKTRISCHE HEISSWASSERSPRECHER
Gerätemodelle

ArtikelnrSpalte Betroffene Modelle Baubeginn       Bauende

E
le

kt
ris

ch
e 

H
ei

ss
w

as
se

rs
pe

ic
he

r

LYDOS ECO ABS PW
R8218140-04 - 24/10/2022

1 3201974 LYDOS ECO ABS PW 50 V 07-2018 -
2 3201975 LYDOS ECO ABS PW 80 V 07-2018 -
3 3201976 LYDOS ECO ABS PW 100 V 07-2018 -

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

EXPLOSIONADO RECAMBIOS
CALENTADOR ELECTRICO DE ACUMULACION
Modelo

ReferenciaCol Aparatos concernados Principio       Fin

C
al

en
ta

do
r E

le
ct

ric
o 

de
 A

cu
m

ul
ac

io
n

LYDOS ECO ABS PW
R8218140-04 - 24/10/2022

1 3201974 LYDOS ECO ABS PW 50 V 07-2018 -
2 3201975 LYDOS ECO ABS PW 80 V 07-2018 -
3 3201976 LYDOS ECO ABS PW 100 V 07-2018 -

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

ESPLOSO RICAMBI
SCALDACQUA ELETTRICI AD ACCUMULO
Modello

CodiceCol Modello Date inizio Data fine

S
ca

ld
ac

qu
a 

E
le

ttr
ic

i a
d 

A
cc

um
ul

o

LYDOS ECO ABS PW
R8218140-04 - 24/10/2022

1 3201974 LYDOS ECO ABS PW 50 V 07-2018 -
2 3201975 LYDOS ECO ABS PW 80 V 07-2018 -
3 3201976 LYDOS ECO ABS PW 100 V 07-2018 -

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

VUE ECLATEE
EAU CHAUDE ÉLECTRIQUE ACCUMULÉE
Modèle

CodeCol Modèle Date Début Date Fin

E
au

 C
ha

ud
e 

E
le

ct
riq

ue
 A

cc
um

ul
ée

LYDOS ECO ABS PW
R8218140-04 - 24/10/2022

1 3201974 LYDOS ECO ABS PW 50 V 07-2018 -
2 3201975 LYDOS ECO ABS PW 80 V 07-2018 -
3 3201976 LYDOS ECO ABS PW 100 V 07-2018 -

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

SPARE PARTS EXPLODED VIEW
STORAGE ELECTRIC WATER HEATERS
Model

ReferenceCol Model type Begin       End

S
to

ra
ge

 E
le

ct
ric

 W
at

er
 H

ea
te

rs

LYDOS ECO ABS PW
R8218140-04 - 24/10/2022

1 3201974 LYDOS ECO ABS PW 50 V 07-2018 -
2 3201975 LYDOS ECO ABS PW 80 V 07-2018 -
3 3201976 LYDOS ECO ABS PW 100 V 07-2018 -

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

1

bullpid1
Rectangle 



L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
D

ep
ol

u 
el

ek
tri

kl
i s

u 
is

iti
ci

la
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

le
kt

ris
ch

e 
B

oi
le

r
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

le
kt

ris
ch

e 
H

ei
ss

w
as

se
rs

pe
ic

he
r

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
C

al
en

ta
do

r E
le

ct
ric

o 
de

 A
cu

m
ul

ac
io

n
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
S

ca
ld

ac
qu

a 
E

le
ttr

ic
i a

d 
A

cc
um

ul
o

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

au
 C

ha
ud

e 
E

le
ct

riq
ue

 A
cc

um
ul

ée
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
S

to
ra

ge
 E

le
ct

ric
 W

at
er

 H
ea

te
rs

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

2
R8225810

22

23

30

58

43

55

27

66

33

12

1

45

31

14

2

36

3

501

44

50



1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

 Прим.

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

 

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Parça Kodu  Tip

D
ep

ol
u 

el
ek

tri
kl

i s
u 

is
iti

ci
la

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Benamingen Referentie  Model
Van tot

0001 WEERSTAND 2500W 220-240V 65112788    • • •
0002 FLENSPLAAT (5 GATEN) 65118098    • • •
0003 ELEKTRONISCHE THERMOSTAAT 65116559    • • •
0012 ELEKTRISCHE BEDRADING (CONTROLEKAART) 65118085    • • •
0014 AFDEKPLAAT 65117999    • • •
0022 VEILIGHEIDSGROEP EN HENDEL 8,5 BAR 1/2" 571730      • • •
0023 ANODE D:25,5 L:230 M5-M8 993014-01   • • •
0027 VEER 65117996    • • •
0030 SCHROEF M6X12 993000      • • •
0031 MOER M6 994140      • • •
0033 FLENSDICHTING 65111788    • • •
0036 TFLEX KAART 65116753    • • •
0043 BEDIENINGSPANEEL 65118096    • • •
0044 KABELKLEM 65121205    • • •
0045 SCHROEF M6X20 65151225-FA • • •
0050 VOEDINGSKABEL MET ELCB 65150965    • • •
0055 CONTROLEKAART 65118097    • • •
0058 VLAMKEERPL (1/2'' H=70) 65117462    • • •
0066 LICHT SCHEIDINGSTEKEN 65117997    • • •

0500 TOEBEHOREN
0501 THERMOCONDUCTIVE PLAKKEN 65118088    • • •

E
le

kt
ris

ch
e 

B
oi

le
r

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Bezeichnung Artikel Nr.  Typ
Ab bis

0001 WIDERSTAND 2500W 220-240V 65112788    • • •
0002 FLANSCH 6-LÖCHER 65118098    • • •
0003 THERMOSTAT, ELEKTRON. 65116559    • • •
0012 VERKABELUNG (STEUERUNGSKARTE) 65118085    • • •
0014 DECKEL 65117999    • • •
0022 SICHERHEITSVENTIL 571730      • • •
0023 ANODE D:25,5 L:230 M5-M8 993014-01   • • •
0027 FEDER 65117996    • • •
0030 SCHRAUBE M6X12 993000      • • •
0031 MUTTER M6 994140      • • •
0033 FLANSCHDICHTUNG 65111788    • • •
0036 TFLEX CARD 65116753    • • •
0043 FRONTBLENDE 65118096    • • •
0044 ZUGENTLASTUNG 65121205    • • •
0045 SCHRAUBE M6X20 65151225-FA • • •
0050 SPEISUNGSKABEL MIT ELCB 65150965    • • •
0055 STEUERUNGSKARTE 65118097    • • •
0058 ABWEISER (1/2'' H=70) 65117462    • • •
0066 LICHT ABSCHEIDER 65117997    • • •

0500 ZUBEHÖR
0501 THERMOLEITENDE PASTE 65118088    • • •

E
le

kt
ris

ch
e 

H
ei

ss
w

as
se

rs
pe

ic
he

r
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Designación Referencia  Tipo
De a

0001 RESISTENCIA 2500W 220-240V 65112788    • • •
0002 PLETINA (5 AGUJEROS) 65118098    • • •
0003 TERMOSTATO ELECTRONICO 65116559    • • •
0012 CABLEADO (CIRCUITO DE CONTROL) 65118085    • • •
0014 CAZOLETA 65117999    • • •
0022 VALVULA DE SEGURIDAD CON PALANCA 571730      • • •
0023 ANODO D:25,5 L:230 M5-M8 993014-01   • • •
0027 MUELLE 65117996    • • •
0030 TORNILLO M6X12 993000      • • •
0031 TUERCA M6 994140      • • •
0033 JUNTA PLETINA 65111788    • • •
0036 TARJETA TFLEX 65116753    • • •
0043 TAPA FRONTAL 65118096    • • •
0044 SUJETACABLE 65121205    • • •
0045 TORNILLO M6X20 65151225-FA • • •
0050 CABLE DE ALIMENTACION CON ELCB 65150965    • • •
0055 CIRCUITO DE CONTROL 65118097    • • •
0058 DEFLECTOR (1/2'' H=70) 65117462    • • •
0066 SEPARADOR LUZ 65117997    • • •

0500 ACCESORIO
0501 PASTA TERMOCONDUCTORA 65118088    • • •

C
al

en
ta

do
r E

le
ct

ric
o 

de
 A

cu
m

ul
ac

io
n

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Descrizione Codice  Tipo
Da a

0001 RESISTENZA 2500W 220-240V 65112788    • • •
0002 FLANGIA 5 FORI 65118098    • • •
0003 TERMOSTATO ELETTRONICO 65116559    • • •
0012 CABLAGGIO SCHEDA DI CONTROLLO 65118085    • • •
0014 CALOTTINA 65117999    • • •
0022 VALVOLA SIC.1/2MF 8,5 BAR+LEV. MAGG. 571730      • • •
0023 ANODO D:25,5 L:230 M5-M8 993014-01   • • •
0027 MOLLA BICONICA 65117996    • • •
0030 VITE M6X12 993000      • • •
0031 DADO M6 994140      • • •
0033 GUARNIZIONE FLANGIA 65111788    • • •
0036 SCHEDINO TFLEX 65116753    • • •
0043 FRONTALINO 65118096    • • •
0044 FERMACAVO 65121205    • • •
0045 VITE M6X20 65151225-FA • • •
0050 CAVO DI ALIMENTAZIONE CON ELCB 65150965    • • •
0055 SCHEDA DI CONTROLLO 65118097    • • •
0058 DEFLETTORE (1/2'' H=70) 65117462    • • •
0066 SEPARATORE LUCE 65117997    • • •

0500 ACCESSORI
0501 PASTA TERMOCONDUTTIVA 65118088    • • •

S
ca

ld
ac

qu
a 

E
le

ttr
ic

i a
d 

A
cc

um
ul

o
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Désignation Référence  Type
De à

0001 RESISTANCE 2500W 220-240V 65112788    • • •
0002 BRIDE (5 TROUS) 65118098    • • •
0003 THERMOSTAT ELECTRONIQUE 65116559    • • •
0012 CABLAGE (CARTE ELECTRON. DE CONTROLE) 65118085    • • •
0014 CALOTTINE 65117999    • • •
0022 SOUPAPE DE SECURITE ET LEVIER 8,5 BAR 571730      • • •
0023 ANODE D:25,5 L:230 M5-M8 993014-01   • • •
0027 RESSORT 65117996    • • •
0030 VIS M 6-12 993000      • • •
0031 ECROU M6 994140      • • •
0033 JOINT BRIDE 65111788    • • •
0036 CARTE TFLEX 65116753    • • •
0043 TABLEAU DE COMMANDE 65118096    • • •
0044 BLOQUE CABLE 65121205    • • •
0045 VIS M6X20 65151225-FA • • •
0050 CABLAGE D'ALIMENTATION AVEC ELCB 65150965    • • •
0055 CARTE ELECTRONIQUE DE CONTROLE 65118097    • • •
0058 CHICANE (1/2'' H=70) 65117462    • • •
0066 SÉPARATEUR DE LUMIÈRE 65117997    • • •

0500 ACCESSOIRES
0501 PÂTE THERMOCONDUCTIVE 65118088    • • •

E
au

 C
ha

ud
e 

E
le

ct
riq

ue
 A

cc
um

ul
ée

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Description Manf. Pt. N  Type
From to

0001 НАГРЕВАТЕЛЬНЫЙ ЭЛЕМЕНТ 2500W 220-240V 65112788    • • •
0002 ФЛАНЕЦ (5 БОЛТОВ) 65118098    • • •
0003 ЭЛЕКТРОННЫЙ ТЕРМОСТАТ 65116559    • • •
0012 КАБЕЛЬ ДИСПЛЕЯ 65118085    • • •
0014 КРЫШКА ПЛАСТИКОВАЯ 65117999    • • •
0022 ПРЕДОХРАНИТЕЛЬНЫЙ КЛАПАН (1/2’’ 8,5 БАР) 571730      • • •
0023 МАГНИЕВЫЙ AНОД D:25,5 L:230 M5-M8 993014-01   • • •
0027 ПРУЖИНА 65117996    • • •
0030 ВИНТ M6Х12 993000      • • •
0031 ГАЙКА M6 994140      • • •
0033 ПРОКЛАДКА ФЛАНЦА 65111788    • • •
0036 ПЛАТА T-FLEX 65116753    • • •
0043 ПАНЕЛЬ УПРАВЛЕНИЯ 65118096    • • •
0044 ЗАЖИМ ДЛЯ КАБЕЛЯ 65121205    • • •
0045 ВИНТ M6Х20 65151225-FA • • •
0050 КАБЕЛЬ ПИТАНИЯ С УЗО (16А 1,0м) 65150965    • • •
0055 ПЛАТА ДИСПЛЕЯ 65118097    • • •
0058 РАССЕКАТЕЛЬ ВОДЫ (1/2’’ H=70) 65117462    • • •
0066 СВЕТОПРОВОДЯЩАЯ ПЛАСТИНА 65117997    • • •

0500 ACCESSORIES
0501 ТЕРМОПАСТА 65118088    • • •

S
to

ra
ge

 E
le

ct
ric

 W
at

er
 H

ea
te

rs
L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 5

0
  
 

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 8

0

L
Y
D
. 
E
C
O

 A
B
S
 P

W
 1

0
0
  

3



HW ................. 
CW ................. 
C .................... 
Ca .................. 
TP .................. 
1F .................. 
2F .................. 
3F .................. 
AMI ................ 
SMI ................ 
PUISS ............ 
PN .................. 
LP .................. 
PV .................. 
PF .................. 

SI-V-0B0 45 07 0001

6 2004
7  2005
8 2006

 25 
13 
32 
35 
39 

43 
29 
40 
38 
51 
12 

3200050 XX 08115 0000001

03 09 08

5 9 12 0606 

3200050 XX 070115 0000001

02 11 00001 007843

111518  XX 000010

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W

SI-V-0B0 45 07 0001

14

14

3200050 XX 08115 0000001

        (08) /                  (115)

21

03 09 086

9 5 9 12 0606 

        (07) /         (01) /                 (15)

22 3200050 XX 070115 0000001

02 11 00001 00784315

 25 
13 
32 
35 
39 
45

43 
29 
40 
38 
51 
12 

6 2004
7  2005
8 2006
其他 ...

111518  XX 000010

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
D

ep
ol

u 
el

ek
tri

kl
i s

u 
is

iti
ci

la

KISALTMALAR LISTESI

SERİ NUMARASI

3200050 XX 08115 000000121 Karakter :       

03 09 086 Karakter :       

02 11 00001 00784315 Karakter :       

9 Karakter : 5 9 12 0606 

22 Karakter : 3200050 XX 070115 0000001

SI-V-0B0 45 07 0001

14 Karakter :       

6 2004
7  2005
8 2006
vb ...Kamera modeli

 25 
13 
32 
35 
39 
45

43 
29 
40 
38 
51 
12 

Ocak 

Mart
Nisan

Haziran

Temmuz

Ekim

111518  XX 00001014 Characters :       

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

le
kt

ris
ch

e 
B

oi
le

r

LIJST MET AFKORTINGEN
WW .................. : Warm water.
KW ..................  : Koud water.
C .................... : Steatiet weerstand (normale opwarming).
Ca .................. : Steatietweerstand (versnelde opwarming).
TP .................. : Dompelweerstand.
1F ..................  : Met mengkraan.
2F ..................  : Zonder mengkraan.
3F ..................  : Met mengkraan en een extra uitgang.
AMI ................  : Met ingebouwde mengkraan.
SMI ................  : Zonder ingebouwde mengkraan.
TYPE ............  : Duidt het type toestel aan.
PN ..................  : Deze referenties betreffen uitsluitend toestellen met normale druk.
BP ..................  : Deze referenties betreffen uitsluitend toestellen met lage druk.
PV .................. : Deze referenties betreffen uitsluitend toestellen met variabele druk.
PF .................. : Deze referenties betreffen uitsluitend toestellen met vaste druk.

IDENTIFICATIEPLAATJE

De informatie op de prijslijsten en de commerciële of technische, documentatie, de schema’s en afmetingen zijn ter 
informatie en geldig op dit moment. De constructeur behoudt zich het recht van veranderingen in presentatie, vorm, 
afmetingen, bouw en samenstelling van zijn product. 

SERIENUMMER

Productiemaand

3200050 XX 08115 0000001

Opeenvolgende code
Productiejaar (08) / Productiedag (115)

21 Karakters :       

Code toestel

03 09 08
ProductiedagProductiejaar 

6 Karakters :       

02 11 00001 00784315 Karakters :       
Productiejaar Code toestel

Opeenvolgende codeProductiemaand

Opeenvolgende code

9 Karakters : 5 9 12 0606 

Productiejaar 
Productiemaand

Opeenvolgende code
Productiejaar / Productiemaand / Productiedag 

22 Karakters : 3200050 XX 070115 0000001

Code toestel

SI-V-0B0 45 07 0001

14 Karakters :       

6 2004
7  2005
8 2006
etc ...

Opeenvolgende code

Productiemaand : 
Type toestel

 Productiejaar : 
 25 
13 
32 
35 
39 
45

43 
29 
40 
38 
51 
12 

Januari 
Februari
Maart
April
Mei
Juni

Juli
Augustus
September
Oktober
November
December

111518  XX 00001014 Characters :       

Productiemaand
Opeenvolgende codeProductiedag
Productiejaar 

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

le
kt

ris
ch

e 
H

ei
ss

w
as

se
rs

pe
ic

he
r

VERWENDETE ABKÜRZUNGEN
EC ..................  :  Warmwasser.
EF ..................  :  Kaltwasser.
C ....................  :  Keramischer Widerstand (normale heizung).
Ca ..................  :  Keramischer Widerstand (beschleunigte heizung).
TP ..................  :  Widerstand Heizstab.
1F ..................  :  Mit Hahn.
2F ..................  :  Ohne Hahn.
3F ..................  :  Mit Hahn und zusätzlicher Wasserentleerung.
AMI ................  :  Mit integriertem Mischventil.
SMI ................  :  Ohne integriertem Mischventil.
PUISS ...........  :  Angabe der Geräteart.
PN .................  :  Diese Angaben betreffen ausschließlich Geräte mit Normaldruck.
BP .................  :  Diese Angaben betreffen ausschließlich Geräte mit Niederdruck.
PV .................  :  Diese Angaben betreffen ausschließlich Geräte mit variabler Leistung.
PF .................  :  Diese Angaben betreffen ausschließlich Geräte mit unveränderlicher Leistung.

TYPENSCHILD

Die Angaben zu Preislisten bzw. kaufmännischen oder technischen Unterlagen, zu Abbildungen oder Maßangaben
sind unverbindlich und nur für einen bestimmten Zeitraum gültig. Der Hersteller behält sich das Recht vor, Änderungen 
jeder Art in Bezug auf die Darstellung, die Form, die Maße, die Konzeption oder das Material seiner Produkte vorzunehmen.

SERIENNUMMER

Baumonat

3200050 XX 08115 0000001

Fortlaufende Gerätenummer
Baujahr (08) / Tag der Produktion (115)

21 Charakters :       

Artikelnummer

03 09 08
Tag der ProduktionBaujahr

6 Charakters :       

02 11 00001 00784315 Charakters :       
Baujahr Artikelnummer

Fortlaufende GerätenummerBaumonat

Fortlaufende Gerätenummer

9 Charakters : 5 9 12 0606 

Baujahr
Baumonat

Fortlaufende Gerätenummer
Baujahr  / Baumonat  / Tag der Produktion 

22 Charakters : 3200050 XX 070115 0000001

Artikelnummer

SI-V-0B0 45 07 0001

14 Charakters :       

6 2004
7  2005
8 2006
etc ...

Fortlaufende Gerätenummer

Baumonat : 
Gerätmodell

 Baujahr : 
 25 
13 
32 
35 
39 
45

43 
29 
40 
38 
51 
12 

Januar
Februar
März
April
Mai
Juni

Juli
August
September
Oktober
November
Dezember

111518  XX 00001014 Characters :       

Baumonat
Baujahr Tag der produktion
Fortlaufende Gerätenummer

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
C

al
en

ta
do

r E
le

ct
ric

o 
de

 A
cu

m
ul

ac
io

n

ABREVIACIONES
AC ..................  :  Agua caliente.
AF ..................  :  Agua fria.
C ....................  :  Resistencia ceramica (Caldeo normal).
Ca ..................  :  Resistencia ceramica (Caldeo acelerado).
TP ..................  :  Resistencia inmersa.
1F ..................  :  Con griferia.
2F ..................  :  Sin griferia.
3F ..................  :  Con griferia y una salida complementaria.
AMI ................  :  Con mezclador integrado.
SMI ................  :  Sin mezclador integrado.
PUISS ...........  :  Potencia del aparato.
PN .................  :  Aparato a presion normal.
BP .................  :  Aparato a baja presion.
PV .................  :  Aparato a potencia variable.
PF .................  :  Aparato a potencia fija.

IDENTIFICACION

Las informaciones anotadas sobre las tarifas y documentaciones comerciales o tecnicas son dados en concepto
de indicacion y validas a un momento dado.El CONSTRUCTOR se reserva el derecho de traer todas modificaciones de 
presentacion, de forma, de dimension, de concepcion o materia a sus productos.

SI-V-0B0 45 07 0001

14 Caracteres :       

6 2004
7  2005
8 2006
etc ...

Código secuencial

Mes de fabricacion :  
Modelo aparato  

Año de fabricacion : 
 25 Enero
13 Febrero
32 Marzo
35 Abril
39 Mayo
45 Junio

43 Julio
29 Agosto
40 Septiembre
38 Octubre
51 Noviembre
12 Diciembre

NUMERO DI SERIE

Mes de fabricacion 
 

3200050 XX 08115 0000001

Código secuencial
Año (08) / Dia de fabricacion (115)

21 Caracteres :       

Referencia del aparato

03 09 08
Dia de fabricacionAño de fabricacion

6 Caracteres :       

02 11 00001 00784315 Caracteres :       
Año de fabricacion Referencia del aparato

Código secuencialMes de fabricacion

Código secuencial

9 Caracteres : 5 9 12 0606 

Año de fabricacion
Mes de fabricacion 

Código secuencial
Año (07) / Mes (01) / Dia de fabricacion (15)

22 Caracteres : 3200050 XX 070115 0000001

Referencia del aparato

111518  XX 00001014 Characters :       

Mes de fabricacion 
Año de fabricacion Dia de fabricacion
Código secuencial

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
S

ca
ld

ac
qu

a 
E

le
ttr

ic
i a

d 
A

cc
um

ul
o

ELENCO ABBREVIAZIONI UTILIZZATE
EC ..................  :  Acqua calda.
EF ..................  :  Acqua fredda.
C ....................  :  Resistenza ceramica (Riscaldamento normale).
Ca ..................  :  Resistenza ceramica (Riscaldamento accelerato).
TP ..................  :  Resistenza ad immersione.
1F ..................  :  Con rubinetteria.
2F ..................  :  Senza rubinetteria.
3F ..................  :  Con rubinetteria e uscita complementare.
AMI ................  :  Con miscelatore integrato.
SMI ................  :  Senza miscelatore integrato.
PUISS ...........  :  Natura dell’apparecchio.
PN .................  :  Apparecchio a pressione normale.
BP .................  :  Apparecchio a bassa pressione.
PV .................  :  Apparecchio a potenza variabile.
PF .................  :  Apparecchio a potenza stabile.

TARGA MATRICOLA

I dati presenti sulla tariffa e le documentazioni commerciali o tecniche, gli schemi e altre informazioni
sono dati a titolo indicativo e validi per un certo periodo. Il COSTRUTTORE si riserva la facoltà di modificare la 
presentazione, la forma, la dimensione, la concezione o la materia dei suoi prodotti

NUMERO DI SERIE

Mese di fabbricazione 

3200050 XX 08115 0000001

Codice sequenziale
Anno (08) / Giorno di fabbricazione (115)

21 Caratteri :       

Codice articolo

03 09 08
Giorno di fabbricazioneAnno di fabbricazione 

6 Caratteri :       

02 11 00001 00784315 Caratteri :       
Anno di fabbricazione Codice articolo

Codice sequenzialeMese di fabbricazione

Codice sequenziale

9 Caratteri : 5 9 12 0606 

Anno di fabbricazione 
Mese di fabbricazione

Codice sequenziale
Anno (07) / Mese (01) / Giorno di fabbricazione (15)

22 Caratteri : 3200050 XX 070115 0000001

Codice articolo

SI-V-0B0 45 07 0001

14 Caratteri :       6 2004
7  2005
8 2006
etc ...

Codice sequenziale

Giorno di fabbricazione : 
Modello articolo  

 Anno di fabbricazione : 
 25 
13 
32 
35 
39 
45

43 
29 
40 
38 
51 
12 

Gennaio
Febbraio
Marzo
Aprile
Maggio
Giugno

Luglio
Agosto
Settembre
Ottobre
Novembre
Dicember

111518  XX 00001014 Characters :       

Mese di fabbricazione 
 Anno di fabbricazione Giorno di fabbricazione
Codice sequenziale

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
E

au
 C

ha
ud

e 
E

le
ct

riq
ue

 A
cc

um
ul

ée

LISTE DES ABRÉVIATIONS
EC .................. : Eau chaude.
EF ..................  : Eau froide.
C .................... : Résistance Céramique (Chauffe normale).
Ca .................. : Résistance Céramique (Chauffe accélérée).
TP .................. : Résistance ThermoPlongeur.
1F ..................  : Avec Robinetterie.
2F ..................  : Sans Robinetterie.
3F ..................  : Avec Robinetterie et une sortie supplémentaire.
AMI ................  : Avec Mélangeur Intégré.
SMI ................  : Sans Mélangeur Intégré.
TYPE ............  : Indique la nature de l'appareil.
PN ..................  : Ces références concernent uniquement un appareil à Pression Normale.
BP ..................  : Ces références concernent uniquement un appareil à Basse Pression.
PV .................. : Ces références concernent uniquement un appareil à Puissance Variable.
PF .................. : Ces références concernent uniquement un appareil à Puissance Fixe.

PLAQUE SIGNALÉTIQUE

Les renseignements portés sur les tarifs et documentations commerciales ou techniques, les schémas et côtes 
d'encombrements sont donnés à titre indicatif et valables à un instant donné. Le CONSTRUCTEUR se réserve le droit 
d'apporter toutes modifications de présentation, de forme, de dimension, de conception ou matière à ses produits.

SI-V-0B0 45 07 0001

14 Caractères :       

6 2004
7  2005
8 2006
etc ...

Code séquentiel

Mois de fabrication : 
 Année de fabrication : 

 25 Janvier
13 Fevrier
32 Mars
35 Avril
39 Mai

43 Juillet
29 Aout
40 Septembre
38 Octobre
51 Novembre
12 Decembre

NUMÉRO DE SÉRIE

Mois de fabrication
 

3200050 XX 08115 0000001

Code séquentiel
Année (08) / Jour de fabrication (115)

21 Caractères :       

Code appareil

03 09 08

Jour de fabricationAnnée de fabrication 
6 Caractères :       

02 11 00001 00784315 Caractères :       
Année de fabrication Code appareil

Code séquentielMois de fabrication 

45 Juin

Code séquentiel 

9 Caractères : 5 9 12 0606 

Année de fabrication 
Mois de fabrication 

Code séquentiel
Année (07) / Mois (01) / Jour de fabrication (15)

22 Caractères : 3200050 XX 070115 0000001

Code appareil

111518  XX 00001014 Characters :       

Mois de fabrication
Année de fabrication Jour de fabrication
Code séquentiel 

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W
S

to
ra

ge
 E

le
ct

ric
 W

at
er

 H
ea

te
rs

LIST OF THE ABBREVIATIONS
HW ................. :  Hot water.
CW ................. :  Cold water.
C .................... :  Ceramic resistance (normal heating).
Ca .................. :  Ceramic resistance (accelerated heating)
TP .................. :  Immersion heater.
1F .................. :  With fittings.
2F .................. :  Without fittings.
3F .................. :  With fittings and another outlet connection.
AMI ................ :  With mixing valve.
SMI ................ :  Without mixing valve.
PUISS ............ :  Power of th appliance.
PN .................. :  Appliance with normal pression.
LP .................. :  Appliance with low pression.
PV .................. :  Appliance with variable power.
PF .................. :  Appliance with fixed power.

IDENTIFICATION PLATE

The indications mentionned on the prices, commercial or technical literature and the scheme are written for your guidance 
and are available at a given time. The CONSTRUCTOR retains the power to modify the presentation, the form, the size, 
the conception or the material of the products.

SI-V-0B0 45 07 0001

14 Characters :       

6 2004
7  2005
8 2006
etc ...

Sequencial number

Month of manufacture :
: Product model  

 Year of manufacture : 
 25 January
13 February
32 March
35 April
39 May
45 June

43 July
29 August
40 September
38 October
51 November
12 December

SERIAL NUMBER

Month of manufacture
 

3200050 XX 08115 0000001

Sequencial number
Year (08) / Manufacturing day (115)

21 Characters :       

Product reference

03 09 08
Manufacturing dayYear of manufacture

6 Characters :       

02 11 00001 00784315 Characters :       

Year of manufacture Product reference
Sequencial numberMonth of manufacture

111518  XX 00001014 Characters :       

Month of manufacture
Year of manufactureDay of manufacture
Sequencial number

Sequencial number

9 Characters : 5 9 12 0606 

Year of manufacture
Month of manufacture

Sequencial number
Year (07) / Month (01) / Manufacturing day (15)

22 Characters : 3200050 XX 070115 0000001

Product reference

L
Y

D
O

S
 E

C
O

 A
B

S
 P

W


	EN-1: 
	FR-1: 
	IT-1: 
	ES-1: 
	DE-1: 
	NL-1: 
	EN-2: 
	FR-2: 
	IT-2: 
	ES-2: 
	DE-2: 
	NL-2: 


